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($< 5,49-%) 7"&<&"&345), & <. ,<C "$ D39 &52" %%,
*8$H9-$"0 .. @$O *94$3. 1 97 . 3 & %$6 . ?& -&789<$3$
& #95C-$""536,%%949 -,)3,8) 58CB$3 "$89#9< C57,/$
%$0,1 "$*93 .

2","&-,%3 P,57C*8&?& & #3%$6$ <9,#9 7"$6&-
3,84536% H#9 2" ,695/9-&3,845369 K"$%5C$ T9'&",,
6,"$ 7939"9#9 6 &-,$8. D391 ¥'#E%&"$(&& %,7979-
8,*&<$, B,8%,3

21



A/59/PV.16

3,"", 15781 ?79%5,%5C5 C?$°$8& 7C34, 79 ?939"9<C
%CB%9 58,-96%$34, & (,8&, ? ?939"_< %CB%9 53",-
<&345), ;39*. %$8$-&34 %$539)A,, 9*A,<&"969,
7$"3%,"'536% 6 &%3,",5%/ "$"6&3&).

: <9<,%3$ 7958,-%,1 5,55&& F,%,"$84%91 J5-
5$<*8,& 6 <&", 7"9&'90,8 ")- &'<,%,%&1, ,A, *9-
8,, C5CHC*&60&/ & *," 39#9 589B%9, 7989B,%&, -
69"%&?8& CH"O" . <&"C & *,"97$5%953&, & C6,8&;&
8954 ;&589 #9');&/ 39;,? & C'896 %$7")B,%%9538.
2"g<,"9< 39<C )68),35) 6.°_6$=A$) #8C*972C=
9"$*9; ,%%9534 583C$(&) %$ T8&B%,< @95397?,.

@,-4 %,5<93") %$ 39, ;39 29 &=%) *.8% 95C-
A,5368,%% 7,",-$;$ 688538 %96.< &"$?5?&< 68%-
53)<, 7"9-98B$,3 *,579%3''984%9 %$"'$53$34 57&"'$84
%$588&), 79-7&3.6%) %,-969845369 &"$?5?9#9 %$"'9-
-$ <,B-C%$"9-%.< 599*A,5369<. O,-$6%,, %3$"%3-
;,%&, 27,(&$84%949 7" ,-53%$6&3,8) F,%, ' '$84%949
5,7",3%") 6 Y"$?, 9"%$;$,3, ;39
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<,B$608&,5) -8&3,84%.<& 7,"89-$<& D?P9%I<&;,-
57949 *$539) & -$B, 93?7$3%, 97"'$6- . 63) <U,%&) 7,5-
5&<&5396 9 /$93&;%9< "$'683&8& JE"&?&. S$? & 6
58C;$, 5 -"CH&<& $E"&?$U578<& HO5C-$"536$<8&,
%$O, 79883&;,579, "$"683E,
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579, & 6$8=3%9, 599*A,5369. 29--,"B?$, ?939"C=
<,B-C%$"9-%9, 599*A,5369 7',-953$6&3 %$ D39<
9;,%4 589B%9< & -,8&7$3%9< D3$7, &539"&& [,%-
3"$84%9$E"&?$%5791 P,57C*8&?,, *C-,3 %,9*/9-&<$,
;39%_ "$6,"0&34 D393 7,",/9-, 7"9&"69-&< .1 %$
95%96, ?9%5,%5C5$. O$0$ 9*A$) 7&6,"B,%%9534
-,<97"$3&& "$53$68),3 <,%) 796,"&34, ;39 D393 7"'&-
"6 %3$"9-$ & 7"'$6&3,84536% <9,1 53"'$%. *C-,3 Cb5-
8. O%%.

2'"9*8,<, 7939"_, 7",-539&3 7",9-98,34 -8)
3949, ;39*. 697893834 6 B&"%4 9#"9<%., %$-,B-.,
79)6&60¢&,5) *8$#9-$"") &"<,%,%&)< 15<$"3$
2003 #9-$, <%9#9, & &/ ",0,%&, %, 3,"7&3 938%#%-
3,84536%. U, B, 5%<., 7"9*8,<. 79*C-&8& ? 59"-%-
%&= D391 7"9M"$<<_. & -9"9B%U91 ?$"3., O 7939-
"$) 595",-939;,%$ %$ 3",/ #8%6%./ "$-$;%/: 7,"-
6$) © 7"$68,%&, %$ 95%96, ?9%5,%5C5$ 5 (,84= *_-
53949 69"6"$A,%&) ? ?9%53&3C(&9%%9I<C 79')-?C;
639"$) © 69553%%968,%&, *,"97$5%953& & DEE,?-
386%9, 69°6"$A,%&, ? <&"C; & 3",34) & *9"4*$ 5
%&A,391. M,"_, 7"&%)3., %96.<& 68%$53)<&, 7"&-
6,-,%%., 6.0,, *C-C3 57959*53696%34 69553$%968, -
%e&= <&"$ & %$(&9%$BA%MHI 7"&<&" ,%&), & D3& <,".
*_8& 9-9*%",%. (,%3"$84%9SE"&?$%5?7&< %$'"9-9< &
7"$6&84%9 6957"&%)3. <,B-C%$"9-%.< 599*A,53-
69<.

-, H9-%), *8$#9-$") 69553$%968,%&= & 7,",-
53"91?, %$0&/ 5&8 *,*97$5%953& & 9*9"9% ., 7"&
5C35368= <UOHOUS(&I%$B4% ./ 5&8 [,%3"$84%ISE-
“82$U52949 DP9%I<& ;57940 & 6$8=3%0#9 599*A, 53-
63, 7",-953$68,%8= <$3,"8&$84%9-3,/%&;,5?91 79-
<9A& K"$%(&,1 & *8$#9-$") 59-,1536&= -"CB,53-
6,%% ./ 53"$%, 6 ;$53%953& K"$%(&&, R&G&S, =C-$-
%$, S&3$15791 0$"9-%91 P,57C*882& & M$"9?79, $
3$7B, :99*A,536$ 58/,88&$%9-5$/$"5?2&/ #95C-$"536,
<. <9B,< 57$'$34, ;39 7"9(,55 69553$%968,0%8)
*,*97$5%953& %$ 65,1 (,%3"$84%ISE"&?$%5291 3,
“§39"'8&& 5CA,536,%%9 7"9-68%C85) 67,",-. @5, ,A,
3",*C=35) C5&8&) 79 9*,57,;,%&= 798%91 *,"97$5-
%9538 ? <9<,%3C 7"96,-,%&) 6.*9"96. 09 ;C65369
9*8,#;,%&), ?939"9, &57.3.6%,3 %$5,8,%&,, & %$-
-,B-., 2939"_, *_.8& 79"9B-,%. 7,",<,%$<&, 7"9-
&'90,-08<& 6 <$"3, 2003 #9-$, 9?$BC35) 79- 5,"4-
,"%91 C#"9°91 6 58C;$,, ,588& %, *C-C3 6.798%,%.
9*)*$3,84536$, 6°)3., 6 D391 56)'& <,B-Ch$"9-%. <
599*A, 5369< 7958, <$) 2000 #9-8.

S"$1%, 63B%9 3$?B, 6 "$<?$/ *9"4* . 5 U&A,-
391 ",08&34 D?9%9<&;,57&, & E&%$%596 .,
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[.%3"$84%9$E""&?$%57$) P,57C*8&?$ 79--,"-
B&3 7",-89B,%&) 9 7"96,-,%&& ",E9"<., 6%,5,%-
%., F,%,"$84%.< 5,?",38%",<, 7957984?C 9%& C?",-
78)=3 "984 I"#%&"$(&& 6 79--,"BIN&& <,B-C%$-
"9-%9#9 <&"$ & *,"97$5%953& & 6 "'$*",0,%&& <,B-
-C%$"9-% ./ 7"9*8,< %$ 95%96, 7"&%N(&796 -&$89#%
& <%9#9539"'9%%,#9 593" C-%&; ,5363.

—$UB*UEU0"R"  (9+4+/#, T+ /0($:;134): G
7",-953$68)= 58969 2",-5,-$3,8= -,8,#$(&& P,5-
7C*8&72& O$C"'C HH#9 2 ,695/9-&3,84536C #-%C @&% ; &
0&8C S89-C<$"C.

1-# >825.+%$ (O$C"C) (9+4+/#, T+U(98H<-
13#): G "$- 5-,8$34 D39 '$)68,%8&, 93 &<,%&
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